BT TRIA O - HEHHEE X T 3;5219&03)% KIRHE
+H- D - 3y D
BlA=3 73,541 158,900 75,743 83,157 [E;EFILAT4AT 741 1,858 872 986
E 4617 9,918 4577 5,341
BEKET1T 869 1,863 899 964 (IR LEFZHT2T 1,396 3,259 1,559 1,700
BEKET2T 356 815 391 424 H 1,396 3,259 1,559 1,700
B 1,225 2,678 1,290 1,388 |R=E~ EET1T 70 203 89 114
< FE] BT 8,692 20,989 9980 11,009 [R=E~EHR2T 277 550 263 287
Lt RER1T 360 564 288 276 |R=E~ EBT3T 459 1,055 506 549
Tt RERT2T 236 425 199 226 |R=E~ EET4T 207 409 188 221
Lt RER3T 265 469 248 221 |{R=E~ EBT5T 371 683 353 330
Lt RERT4T 164 300 148 152 st| 1,384 2,900 1,399 1,501
Lt RERST 141 291 149 142 | KSIRBT1T 762 1,675 795 880
Tt ERERGT 98 226 113 113 | KEZFET2T 905 1,921 915 1,006
TtERER7T 76 165 75 90 | 1,667 3,596 1,710 1,886
Tt ERERST 127 208 100 108 | RERITT 76 180 80 100
g 1,467 2,648 1,320 1,328 [ERERT2T 148 328 164 164
tfEBET1T 258 548 263 285 (BB RERI3T 374 858 382 476
tfEBET2T 1,157 2,583 1,207 1,376 |FARERT4T 280 493 194 299
tfEBET3T 1,009 1,876 928 948 (B RERIST 142 319 147 172
tfEBET4T 911 2,066 1,035 1,031 | 1,020 2,178 967 1,211
g 3,335 7,073 3,433 3,640 |FA{E EET 2,180 4,903 2,417 2,486
ERATET1T 630 1,561 778 783 | = AHT 250 458 230 228
ERATET2T 353 847 402 445 |BEEERMET1T 252 492 231 261
ERATETST 353 819 387 432 |BEE ERMET2T 500 1,009 491 518
g 1,336 3,227 1,567 1,660 (B E S HRIMATST 718 1,548 729 819
==Yl 1,011 2,169 1,046 1,123 (B EEHRMET4T 643 1,283 643 640
HEWEET 257 496 224 272 |BEEERMETST 697 1,649 792 857
HERE2T 411 710 321 389 gt 2,810 5,981 2,886 3,095
HEWREIIT 261 474 241 233 |EEEMBILET1T 223 385 175 210
HEWE4AT 134 289 130 159 (B E Bi#EitET2T 470 950 457 493
B 1,063 1,969 916 1,053 |BE & B#EILEI3T 526 1,097 533 564
HEREET 1,661 3,184 1,412 1,772 | B#EILET4T 612 1,299 615 684
HEREET2T 2,908 6,173 2913 3260 |BEEMEILATST 741 1,704 827 877
HEFETST 3,025 5,904 2,636 3,268 B 2,572 5,435 2,607 2,828
HEFETAT 2,115 4,030 1,782 2248 |EEBHEET1T 1,035 1,978 960 1,018
HEREEIST 1,267 2,687 1,293 1,394 (BT B#BHAT2T 151 318 165 153
£t| 10976 21,978 10,036 11,942 |[BEE#EEI3T 2,185 4475 2,178 2,297
HUEET1T 785 2,166 1,058 1,108 B 3,371 6,771 3,303 3,468
HYERT2T 535 1,339 656 683 |[BEETZET1T 638 1,396 649 747
g 1,320 3,505 1,714 1,791 (B BHEZET2T 473 994 474 520
MEET 438 964 482 482 | BEERZEI3T 328 769 369 400
EET2T 340 830 400 430 B 1,439 3,159 1,492 1,667
g 778 1,794 882 912 |BEEEARETTT 641 1,305 648 657
WHAEET1T 734 1,878 904 974 |BEEEARET2T 257 591 288 303
WHEEET2T 199 453 216 237 |BEEEARETST 1,018 2,641 1,292 1,349
RT3 T 716 1,558 789 769 B 1,916 4537 2,228 2,309
g 1,649 3,889 1,909 1,980 (B EEMEREET1T 310 708 348 360
RKEIRAT 5683 12,783 6,141 6,642 |BE BMEMAET2T 221 462 226 236
hRERTT 282 543 254 289 |BEE EEmBET3T 609 1,315 658 657
hRER2T 203 366 163 203 g 1,140 2485 1,232 1,253
hRERST 224 484 238 246 |J\ T4t 94 197 90 107
hRERT4T 271 527 254 273
B 980 1,920 909 1,011
o A BT 598 1,271 624 647
hEEEET1T 594 1,266 589 677
hEEEET2T 787 1,321 619 702
hEEEETST 458 1,145 539 606
hEEEET4T 720 1,442 708 734
hEEEEST 845 1,702 820 882
hEEEET6T 3,295 6,215 2,951 3,264
5t| 6,699 13,001 6,226 6,865
P =T 873 2,139 1,053 1,086
BAFBILETTT 1,057 2,211 1,055 1,156
BXEFILET2T 962 2,209 1,079 1,130
BEAEFILAIST 1,857 3,640 1,571 2,069
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